@ WHCTpYKLMs NO ycTaHOBKe(NacnopT uagenus) dapkona s H E R l FF

Honyctumas nonHas macca npuuena: 1300 kg  BepTukanbHasa Harpyska Ha wap: 75 kg
Bec HeTTO: 17,40 kg

KIA Seltos .o nvrposor) awp) 2020 >

11.4482.12 03/03/20 1/6




.

I 2

"y

Mo3unumnsa/Pacnonoxenne BuxeHve MosopoT
B C
1X 1X
D E -
5 o /
@
1X b 1X
F : %
1X 1X
: | %
1X M10x30 7X
! N K
.@ M10 1X M12x1,25x35 4X
M12x1,25 2X M12x1,25x70 2X
i
6X @10 2X
i @
8X @12r 6X
I
SHERIFF 11.4482.12 03/03/20 2/6




L
O%

L
N

v

Regular fasteners

3/6

03/03/20

Regular fasteners

11.4482.12

SHERIFF




6

/

4

oW
(@)

f&
v
M12 = 81 Nm

1
»
.

L/
(@)

f&
v
M10 = 47 Nm

o
.

03/03/20

11.4482.12

SHERIFF




.‘ '&
B

Ow

Regular fasteners

o)

S

4%,

()
v

Regular fasteners

SHERIFF

11.4482.12

03/03/20

5/6




3aluMTa MOTOPHOrO OTCeKa U 3eMEHTOB TpaHcMmuccun paspabotaHa u marotoBrieHa OO0 "MeTtannonpoaykums”,
cooTBeTcTByeT TpeboBaHuam TY 4591-001-25888788-2006. KoHCTpyKumus 3alimLLieHa aBTOPCKUMU CBUOETENBCTBAMM
Ha nonesHyto mogernb Ne89059, 15980, 15981, 15982, 15983. 3anateHToBaHO B Poccuu.

YCTAHOBKA:

3allMTa MOTOPHOTO OTCEKa M 3NIEMEHTOB TpaHCMUCCUK paspabaTbiBaeTcsl MHAMBMAOYANbHO Ha KaXKablii aBTOMOOWIb.
OHa [ormkHa ycTaHaBIMBaTbLCS B COOTBETCTBUM C MHCTPYKLMEN M3rOTOBUTENS CNeLMannsnpoBaHHbIM AMIepoM Ui Ha
cepTudmLmpoBaHHbix CTO. 3aluta KpenuTes K LUTaTHbIM OTBEPCTUSIM CUITOBbIX 31eMeHTOB Ky30Ba. [1py npaBUnbHoM
yCTaHOBKe 3alLLuTa He JOMKHa KacaTbCs Y3roB 1 arperatos asToMo6uris.

YCNOBUA SKCIMITYATALIUN:

3awmta MOTOPHOrO OTCEeKa M JNEMEHTOB TPaHCMUCCWUM NpefHasHadeHa [And 3JKcnnyatauum B YCIOBUSAX
npenycMOTPEHHbIX NMpon3BoanTenem asTomobuns. MNMpu akcnnyataumm SOSmKHbI OblTb UCKMOYEHbI Cryvyan Haesga Ha
KPYyrMHble NPenATCTBUSA U MpeamMeTbl Npu ABWKEHUM aBTOMOOMMsS Ha ckopocTu. B cnydae Haespa Ha npensitcTBue
Heobxoaumo ybeamnTbCcs B OTCYTCTBUM MOBPEXAEHUIA Y3MNOB M arperatoB aBTOMOOUNA M MPUrO4HOCTU OarnbHENLen
aKcnnyarTaumm 3almTbl Ha cneumanuanposaHHon CTO.

FAPAHTUA:

[apaHTUNHbBIN CPOK aKCMyaTaumm - 24 mecsaua.

YCI1IOBUA NMPEOOCTABJIEHUA FTAPAHTUN:

3almTa ycTaHoBreHa Ha aBTOMOOWUIb, C HE MOBPEXAEHHBIMU CUIOBbIMM 3MEMEHTaMM Ky30Ba U KOHCTPYKLMM
(aBTOMOGUIB, KOTOPHLIN He y4acTBoBan B A T1);

OTCyTCTBYIOT MEXaHWNYECKNE NOBPEXAEHUS 3aLLUUTbI, NONYyYEHHbIE B pe3ynbrarte Hae3aa Ha NpensiTCTBUE;

CobntoaeHbl Bce TpeboBaHMSA MHCTPYKLMM MO YyCTaHOBKE 3aLUUThI;

OTCyTCTBYIOT MEXaHWNYECKME MOBPEXAEHNS MOPOLUKOBOTO MOKPbITUS.

[Mpoun3BoguTens He HeceT OTBETCTBEHHOCTU 3a Nto6oN yLep6, MPUUMHEHHbIN aBTOMOOWIIO, XMU3HW 1 300POBbIO NOAEN,
B Crly4ae HapyLleHUs YCIOBMI YCTAHOBKMU M 3KCMryaTaumm 3awwmTel. [Npov3BognTens BnpaBe BHOCUTbL M3MEHEHWS B
KOHCTPYKLMIO 3aLUMUTHI.

OXPAHA OKPYXXAIOLLEW CPEQbI

YTnnuanpyinTe ynakoBKy npaBunbHo. PekoMeHayeTcst coaBaTth ee Ha nepepaboTky.
He 3abbiBaiiTe 06 OXpaHe OKpy>KatoLLeln cpeabl.

PVC LDPE PAP

Engine bay and transmission elements skid plate has been designed and manufactured by LLC Metalloproduktsia.
Product conforms to TOR 4591-001-25888788-2006 requirements. Product design is protected by model copyright
certificates Ne89059, 15980, 15981, 15982, 15983. Patented in Russian Federation.

INSTALLATION:

Engine bay and transmission elements skid plate has been designed particularly for a certain vehicle. It should be
mounted according to the producer's installation instruction by a dedicated dealer or on certified service stations. The skid
plate is fixed to regular apertures located on vehicle's body load-bearing elements. In case of correct installation the skid
plate should not interfere with any vehicle's units and components.

OPERATING CONDITIONS:

Engine bay and transmission elements skid plate has been designed to operate in conditions specified by vehicle's
producer. Cases of crush or driving into obstacles at a speed should be excluded during exploitation. In case of head-on
crush it is necessary to assure in absence of damages of vehicle's components and units and availability of
roadworthiness on certified service stations.

WARRANTY:

Warranty period - 24 months.

WARRANTY TERMS:

The skid plate should be installed on a vehicle with undamaged body and load-bearing elements (vehicle, which hads
never been involved in road traffic accident);

There are no mechanical damages of the skid plate resulting from head-on crush. All requirements to skid plate
installation should be satisfied;

There are no mechanical damages of powder coating.

Producer does not bear liability for damages caused to the vehicle, health and life of people in case of installation and
exploitation terms violation. Producer has aright to introduce changes into the skid plate construction.

ENVIRONMENTAL PROTECTION

Dispose of packaging properly. It is recommended to take it for recycling. Don't forget about
environmental protection.

PVC LDPE PAP

SHERIFF 11.4482.12 03/03/20 6/6




